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7th Grade Summer Work

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Which of the following situations involve opposite quantities combining to make 0?

a. Stella has a new piggy bank. She adds 3 quarters on Tuesday, and then adds another 3
quarters on Thursday.
b. Devon opens a new checking account with $30. His first purchase, made with his new
debit card, totals $28.
1
c. Joe makes 1 3 liters of lemonade and drinks it all during the afternoon.

d. Brittany is writing a novel. She wrote 4 new pages to finish Chapter 1. When she reviews
Chapter 1, she discards these 4 pages and an additional 4 pages.

2. Which statement is true?
a. 8+(-2)=4
b. -20+4=5
c. —14+(-7)==2
d 15+(-5)=-3

3. Multiply. Express your answer in simplest form.

2
Se 5
2 2 1
5 “ 2
b. 2 d 4
4. Divide. Express your answer in simplest form.
2.4
3715
5 2
a. 5 3 c. 3
1 8
b. 2 > d. 15

5. Beth bought 25 trading cards of which 19 were sports cards. Which decimal shows what portion of the cards
were sports cards?

a. 0.76 b. 1.316
6. Which fraction is equivalent to 0.625?
L1 .S
8 -8
3 7
b. 3 d. 3
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7. A stock lost $2.25 of its value each day for 5 consecutive days. What is an interpretation of the product

—$2.25 57

a. The stock lost $0.45 per day.

b. The stock lost $7.25 over the 5-day period.
c. The stock lost $11.25 over the 5-day period.
d. The stock lost $11.25 per day.

8. Which of the following is always the result of dividing an integer by an integer when the divisor is nonzero?

a. Integer
b. Whole number
c. Rational number
d 0
8 )
9. Convert B to a decimal.
a. 0.571428
b. 0.571428
c. 1.75
d 1.75

2
10. A carpenter lays 16 square feet of tile in 3 of an hour. How many square feet of tile does the carpenter lay

per hour?

a. 24 square feet per hour

2
b. 167 square feet per hour

3
32
c. 3 square feet per hour
1
d. 57 Square foot per hour
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11.

12.

Tell whether the relationship is a proportional relationship. Explain why or why not.
y

40

30 °

Cost

10 ]

1 2 3 4 5 6 x
Hours

a. The relationship is proportional because a single line can be drawn through all the points
and the line passes through the origin.

b. The relationship is proportional because a single line can be drawn through all the points.

c. The relationship is not proportional because a single line can be drawn through the
points but it does not pass through the origin.

d. The relationship is not proportional because a single line cannot be drawn through all the
points.

Tell whether the relationship is a proportional relationship. If so, give the constant of proportionality.
y

40

30

Bags
3

20 ]

10 ]

!

1 2 3 4 5 6 x
Hours

The relationship is proportional. The constant of proportionality is 2.5.
The relationship is proportional. The constant of proportionality is 5.
The relationship is proportional. The constant of proportionality is 20.
The relationship is not proportional.

/o o
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13. Find the missing value for the proportional relationship, in which the number of cents depends on the number

14.

of minutes.

Minutes

Cents

3

60

7

140

13

16

320

23

460

13
20
b. 20
c. 220
d. 260

The table shows the relationship between the number of songs and the number of minutes for various albums.
Which pair has the lowest ratio of minutes to songs?

Songs Minutes
12 48
6 54
11 55
17 51

aooe

48 minutes to 12 songs
54 minutes to 6 songs

55 minutes to 11 songs
51 minutes to 17 songs

ID:

A
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15.

16.

17.

18.

The graph below shows the relationship between the number of dollars x and the number of tickets you can
buy y. Tell whether the quantities are in a proportional relationship. If so, write an equation that represents
the relationship.

Tickets

y

(0,0) 10 20 30 40 50 x

a.

b.

c.
d.

Dollars

This relationship is proportional. The equation is y = 12x.

1
This relationship is proportional. The equation is y = TR
This relationship is proportional. The equation is y = 12x + 4.

This relationship is not proportional.

The tip for excellent service in a restaurant is $20 for every $100 of the meal. What is the total bill (cost of
meal plus tip) for a $60 meal?

oo

d.

$12.00
$48.00
$72.00
$120.00

A department store has a discount on shoes based on a percentage of the price. Suppose one pair of shoes is
marked down from $70 to $49. What is the price for a $110 pair of shoes after the discount is applied?

o o

$89.00
$77.00
$73.33
$33.00

The number of fans who attended a softball game increased from 1,200 for the first game to 1,500 for the
second game. How many fans will attend the third game if the same percent increase occurs?

o o

375

1,800
1,875
2,700



Name: ID: A

19. Which set of numbers is in order from least to greatest?

a. %; 28%:; 0.62 c. %, 7%, 0.68
b. 21%, %; 0.44 d. 0.42, 16%; %

20. For a school project, Antonio asked six of his friends how many trips they have taken to an amusement park.
The table shows Antonio’s results. Choose a solution method to find how many total trips Antonio’s friends
have taken to an amusement park.

Friend Number of Trips
1 9
2 0
3 24
4 8
5 6
6 18

Use pencil and paper to add the number of trips for each friend. There are 65 trips total.
Use pencil and paper to add the number of trips for each friend. There are 73 trips total.
Use mental math to add the number of trips for each friend. There are 21 trips total.
d. Use mental math to add the number of trips for each friend. There are 60 trips total.

oo

21. A rectangle has a length of 8 feet and a width of 6 feet. If its length and width increase by 50% each, what is
the area of the new rectangle?

24 square feet
48 square feet
72 square feet
d. 108 square feet

o op

22. A hot air balloon is at an elevation of 3,800 feet. If the balloon falls 40 feet per minute, how long would it
take for the balloon to reach 2,000 feet?

a. 45 minutes
b. 50 minutes
c. 95 minutes

d. 145 minutes

23. A bridge currently has 975 vehicles traveling on it per hour during peak time. A traffic engineer estimates
that there will be 3.4% more vehicles traveling on the bridge each year for 2 years. How many more cars will
travel on the bridge per hour during peak time in 2 years than are traveling on it now? Round your final
answer to the nearest whole vehicle.

a. 33 vehicles
b. 66 vehicles
c. 67 vehicles
d.

1,042 vehicles
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24. Which expression is equivalent to 8g +2 +4g -2 —2g?
a. léeg+4 c. lég
b. 10g d. 10g+4

25. Keith is given the following math problem to solve.

Enya has $160 in her bank account. During March, she earns $7.50 per hour baby-sitting. After depositing
her earnings in the account, she has $340. How many hours did Enya baby-sit in March?

Keith used the numeric method below to solve the problem. Which algebraic solution matches his numeric
method?

1) Subtract 160 from 340 to find the amount Enya earned during March.
2) Divide the result by 7.5 to find the number of hours Enya spent baby-sitting.

a. 160+7.5h = 340 c. h+(7.5)160= 340
—160 =—160 —160=-160

7.5h =180 h+7.5=180

180 180

h= 7.5 h= 7.5
b. 7.5h —160= 340 d. 160A+7.5= 340
+160=+160 —160 =—160

7.5h =500 h+7.5=180

500 180

h= 7.5 h= 7.5

26. A fence forms a rectangle and uses 64 meters of fencing. If the width of the enclosed area is 13 meters, what
is the length?

a. 19 meters
b. 38 meters
c. 51 meters
d. 154 meters

X
27. What is a correct method of solving the equation 3 6 =09 forx?

a. First subtract 6 from both sides of the equation, and then divide both sides of the
equation by 3.
. First add 6 to both sides of the equation, and then divide both sides of the equation by 3.
c. First subtract 6 from both sides of the equation, and then multiply both sides of the
equation by 3.
d. First add 6 to both sides of the equation, and then multiply both sides of the equation by
3.
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28.

29.

30.

31.

Which of the following inequalities has a solution set described by the graph on the number line below?

AN

o L o o R 4
-5-4-3-2-101 2 3 4 5

a 5x+£>5—9
2 2
5 8 28
b. gx—g >—?
c 6x £<2
4 ~ 4
14 2
d —§x+? S—g

Your middle school is having a carnival. Admission into the carnival is $8, and each game inside the carnival
costs $0.50. Which of the following inequalities represents the possible number of games g that can be
played with $20?

a. 8g+0.50<20
b. 8g+0.50>20
c. 0.50g+8<20
d. 0.50g+82=20
. . . . 4 13

Which of the following graphs describes the solution set of 3¥-% >-9?
a. € ' o |

-12-8 4 0 4 8 12
b | >

-12 -8 4 0 4 8 12
c ol e——

-12-8 4 0 4 8 12
d, €—t———t—t—+—+—

-12 -8 4 0 4 8 12
A photograph in a catalog has a scale of 2 in. : 5 ft. A tent in the photograph is 3 inches long. How long is the

tent?
a. 751t c. 85ft
b. 8ft d 9ft
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32. The blueprint shows a layout of a building. Every 3 inches in the blueprint represents 5 feet of the actual
building. One of the walls on the blueprint is 21 inches long. What is the length of the actual wall?

30in.

211in.

a. 35 inches
b. 21 feet
c. 35 feet
d. 50 feet

33. The scale drawing has a scale of 1 inch:9 yards. What is the total area of the composite figure that the
drawing represents?

7in.

6in.

.

3in.

51 square inches
459 square yards
4,131 square yards
4,860 square yards

e o
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34. Which is a sketch of the cross section of a square pyramid that is cut parallel to its base? Describe the cross
section.
a. c.

| I NS, I

The cross section is a rectangle.

| L~ ——

The cross section is a square. The cross section is a square.

35. Which of the following describes the vertical cross section of the right rectangular pyramid shown that
contains the vertex of the pyramid and the midpoints of the sides of the base that are 8 yards long?

12 yd

A rectangle with dimensions 8 yards by 12 yards

A rectangle with dimensions 12 yards by 14 yards

An isosceles triangle with base § yards and height 14 yards
An isosceles triangle with base 12 yards and height 14 yards

oo

10
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37.

38.

What is the measure of Z4ABD?

(o) B A
< e o >
40° 20°
70°
D F
i E
a. 60° c. 40°
b. 140° d. 160°
Which pair of angles are supplementary?
5 I
r |
P
o 1
o
a. aande c. aandb
b. fand# d. gandf

Use the fact that ZABC and ZCBD are complementary angles to find mZEBF .

/o o

35°
55°
125°
145°

11
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39.

40.

41.

42.

43.

44,

Which of the following is NOT a measure of an angle in the figure below?

® c

a. 27°

b. 29°

c. 54°

d. 66°

A circle has a diameter of 40 in. Find the circumference of the circle to the nearest tenth. Use 3.14 for .
a. 31.4in. c. 283.4in.

b. 62.81n. d. 1133.51n.

Find the circumference of a circle that has a radius of 7 cm. Use 3.14 for 7.

a. 2198 cm c. 11474 cm

b. 43.96 cm d. 153.86cm

To the nearest tenth, find the area of a circle with diameter of 6 m. Use 3.14 for =.
a. l41m’ c. 283m’

b. 18.8m’ d. 113.0m’

A circle has a circumference of 75.36 yards. What is its diameter? Use 3.14 for x and round to the nearest
yard.

a. 12 yards
b. 24 yards
c. 237 yards
d. 473 yards

What is the surface area of the right rectangular prism shown in the figure?

5m
/J— ——————————— —_———
//// 7m
9m
a. 143 m?
b. 286m?
c. 315m?
d. 486m?

12
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45. What is the volume of the right triangular prism shown?

9vyd
ﬁh 21yd
]

6 yd
a. 27yd?
b. 126yd’
c. 567yd’
d. 1,134yd’

Numeric Response

1.

What is the least possible integer solution of the inequality 4.103x > 19.868?

A company's monthly cost C, in dollars, for storing x surplus units of a product is
C = 1200 + 2.15x. What is the number of surplus units that can be stored for a monthly cost of $3200?

A scale drawing is to be made of the floor of a rectangular room whose dimensions are 72 feet by 40 feet.
The scale to be used is 1 inch : 8 feet. What will the perimeter of the scale drawing be in inches? (The figure
may not be drawn to scale.)

40 fi

721t

A model is built to a scale of 1 ft:87 ft. If a model airplane is 3 feet long, how many feet long is the actual
plane?

The measure of Z/4BC'is 80°, and the measure of Z/DBG is 30°. Find the measure of Z/CBD in degrees.

80° 30°

13



